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[F—FERDELSICUTHER - RRUL
> f1:=t->subs({a=10,b=40000,c=380,d=128},a+b/(c+(t-d)*2)):
T:=[seq(f1(i)*(0.6+0.8*evalf(rand()/10712)),i=1..256)]:
with(plots):listplot(T);
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[EBEOFFTZABVWT—9TLHT. £TTF—9E2RET 3.
> Rdata:=Array([1,2,3,4,5,4,3,2]);
Idata:=Array(1..8,0);
Rdata::[T 234543 2]

|data:=[00000000] (1.3.1)

[ZHICFFTZED T,
> FFT(3,Rdata,ldata);
8 (1.3.2)
(22 TRDD, ZZTFFTOE—3IBD3ET—5 DEHN 23 THZ I &R
LTW3, 7—UIZBINEBOT—9BEEZRTHLD.
> print(Rdata):print(ldata):

[24,-6.828427123,0.-1.171572877,0,-1.171572877, 0,
-6.8284271 23]]
[o 1.10° 0. 1.10° 0 -1.10° 0. -1.10° (1.3.3)

(WZ e ZDRBEUTOED TH 3.
> iFFT(3,Rdata,ldata);
print(Rdata):print(ldata):
8

[1.000000000, 2.000000001, 3.000000000, 3.999999999,
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5.000000000, 3.999999999, 3.000000000, 2.000000001]
[0, -2.500000000 10°'°, 0, -2.50000000010°'°, 0,

2.500000000 107'°, 0, 2.500000000 1 0'10]]

[ZB7 L9 —BEEUTOLSICLTES NS,
> filter:=x->piecewise(x>=0 and x<=20, (1-x/20));
plot(filter(x),x=0..40);

1
filter := x—»piecewise[ng and x<20,1- 50 x]
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